Name: ____________________

Odd One Out — Quadratic Functions
	Quadratic Function 1
	Which one is the Odd One Out? 
	Why is it the Odd One Out?

	
[image: image1.png]



	· The roots of this equation are [image: image3.png](0,—4)



 and [image: image5.png](5,0)



. 
· The vertex of this quadratic function is [image: image7.png](2,-8)



.
· This graph has a        y-intercept at [image: image9.png](0,—4)



.
· The range of this graph is [image: image11.png]y = —8



.
	


	Quadratic Function 2
	Which one is the Odd One Out?
	Why is it the Odd One Out?
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	· The graph has a        y-intercept at  [image: image14.png](0,3)



 .

· The graph has a vertex at [image: image16.png](-1,1)



.

· The graph has a maximum value at [image: image18.png](-1,1)



.
· The graph has a line of symmetry of[image: image20.png]


. 
	


	Quadratic Function 3
	Which one is the Odd One Out?
	Why is it the Odd One Out?

	The factored form of a quadratic function is : 
[image: image21.png]x—4)(2x—3)





	· The graph has a         y-intercept at [image: image23.png](0,12)



.
· The domain of the function is all real numbers. 

· The vertex of the graph is  [image: image25.png](3,—4)



.
	


	Quadratic Function(s) 4
	Which one is the Odd One Out?
	Why is it the Odd One Out?

	Look at the equations below for two quadratic functions. 

Equation 1:   [image: image27.png]y=3(x—5)°+1




Equation 2:   [image: image29.png]y=3(x+5)°+1





	· Equation 1 is a reflection of Equation 2 over the y- axis. 

· Both equations have minimum points that fall on the line  [image: image31.png]v



.
· Both graphs are shifted to the right 5 units from the parent function. 


	


	Quadratic Function 5
	Which one is the Odd One Out?
	Why is it the Odd One Out?

	
[image: image32.png]




	· The graph has a y-axis line of symmetry. 
· There are no real solutions to this function. 

· The range of the function is [image: image34.png]v

"



.
	


	Quadratic Function 6
	Which one is the Odd One Out?
	Why is it the Odd One Out?

	The equation for a quadratic function is shown below: 
[image: image35.png]6x*+9x—6






	· This function has        x-intercepts at  [image: image37.png](—2,0)



 and  [image: image39.png]G0



. 

· This function has a 
            y-intercept of [image: image41.png](0,-8)



.
· This function has no maximum value. 
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